Telangana State Commissioner and Director of
School Education

Notations:

1.0ptions shown in green color and with +" icon are correct.

2.0ptions shown in red color and with # icon are incorrect.

Question Paper Name:

Subject Name:
Duration:
Total Marks:
Display Marks:

Share Answer Key With Delivery Engine :

Actual Answer Key :
Change Font Color:
Change Background Color :
Change Theme:

Help Button:

Show Reports:

Show Progress Bar :

Secondary Grade Teacher Telugu 19th July
2024 Shift 1

Secondary Grade Teacher Telugu
150
80
Yes
Yes
Yes
No
No
No
No
No
No

Secondary Grade Teacher

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group?:
Break time:

Group Marks :

1
71505349
0

150

No

No

0

80

GK and Current Affairs

SectionId :
Section Number:
Section type:

715053228
1
Online



Mandatory or Optional : Mandatory

Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 10
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715053358
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 7150537381 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Moment Magnitude Scale developed by the U.S.A. 1s used to measure
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Question Number : 2 Question Id : 7150537382 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The number of members that can be nominated to Rajya Sabha by the President

of India



]

f—
[

3.¢

10

Question Number : 3 Question Id : 7150537383 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The persons who could avail the optional home voting facility mtroduced in

India’s General Election, 2024
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A} Angy eligible citizen aged 35 and above
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Question Number : 4 Question Id : 7150537384 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
‘Gout’ 1= a disease caused due to failure of
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Question Number : 5 Question Id : 7150537385 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Nikhat Zareen has qualified for participation in the following event of Boxing
at the Summer Olympics to be held in Paris in July, 2024
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Bantamweight
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Question Number : 6 Question Id : 7150537386 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Special Olympics Bharat 1s a National Sports Federation for development of
Sports for
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Question Number : 7 Question Id : 7150537387 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The first one day international cricket game was played between Australia and

England in the year
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Question Number : 8 Question Id : 7150537388 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

As per the UN Laws of Sea, sovereignty of any nation into the sea contiguous to
their coast extends upto
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Options :

24 nautical miles
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30 nautical miles
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35 nautical miles
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12 nautical miles

Question Number : 9 Question Id : 7150537389 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
India 15 NOT a member 1n one of the following Organizations
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Options :
International Criminal Court (ICC)
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South Asian Association for Regional Cooperation (SAARC)
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Bay of Bengal Imitiative for Multi-Sectoral Technical and Economic

Cooperation (BIMSTEC)
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World Trade Organisati{m (WTO)
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Question Number : 10 Question Id : 7150537390 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following Apps is meant for digital transactions of payments
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Question Number : 11 Question Id : 7150537391 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The daily newspaper that celebrated 2002 anniversary in June, 2022
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Anand Bazar Patrika
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Question Number : 12 Question Id : 7150537392 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the group of four Hindu pilgrimage sites defined as *Char Dham’ by Adi

Shankaracharya
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Ujjain, Dwaraka, Jagannath Puri, Kedarnath
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Question Number : 13 Question Id : 7150537393 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following 1s a famous Hindustani Classical vocalist
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Question Number : 14 Question Id : 7150537394 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Yasho Bhoomi, a state-of-the-art convention center and one of the largest

exhibition halls globally 1s in this state
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Question Number : 15 Question Id : 7150537395 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Dudhaagar waterfalls are in this state of India
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Maharashtra
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Question Number : 16 Question Id : 7150537396 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Chloroquine is an anti
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Question Number : 17 Question Id

: 7150537397 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The motto of Central Reserve Police Force
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Question Number : 18 Question Id : 7150537398 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
SACRED portal launched by the Department of Social Justice and

Empowerment is meant for

SPIrRE T0ho HH8d FH0E g @rododd SACRED Eff‘i:laE 588 & &08o0salod

Options :
Unemployved Women

4 Tos A o
0 u-'i_u-,. soerEen

Orphaned children

-
O e
=

Girls belonging to EWS

3 % EWSE Tods aedden



Senior citizens

Question Number : 19 Question Id : 7150537399 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Expand UPS that provides automated backup electric power
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Question Number : 20 Question Id : 7150537400 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Charaka Samhita’ written in ancient India 1z a book on
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Science of Ayurveda
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Religious rituals
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Perspectives in Education
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Question Number : 21 Question Id : 7150537401 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Ancient Indian education system focused on
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Question Number : 22 Question Id : 7150537402 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
According to Wardha Scheme. the stage of Basic Education is meant for ages
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8 to 16 years
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14 to 18 years
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6 to 14 years
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Question Number : 23 Question Id : 7150537403 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Which of the following teaching-learning materials iz known as ‘didactic
materiala’?
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Question Number : 24 Question Id : 7150537404 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Truth 1s that which works’ 1s the view of
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Question Number : 25 Question Id : 7150537405 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

As per the NPST framework standard 1 of career dimension 1s

NPST 56, driimdbo 1 55750 556 Hé =6 ____.
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Knowledge & Practice
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Professional Growth and development
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Question Number : 26 Question Id : 7150537406 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The process of improving people's well-being through their choices 1s:
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Question Number : 27 Question Id : 7150537407 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Poshan Abhiyaan is a convergence mission with an aim to ensure holistic

development and adequate nutrition for
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Choose the correct answer:
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Options :

AB&C
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A only

AsrEa

A&C only
A & Csm@sh

A & Bonly
A & B irad
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Note: For this question, ambiguity is found in question/answer. Candidate will get full marks
for this question if any of the correct options are chosen.

Question Number : 28 Question Id : 7150537408 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the INCORRECT statement relating to social change
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Options :

Social change can be gradual or sudden
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Social change occurs at the same pace in all societies and at all times
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Social change implies change in the society
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Question Number : 29 Question Id : 7150537409 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The method to be employed by a teacher to assess herself for her aggressive

behaviour in class on a particular day 1s known as
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Controlled Observation
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Experimentation

'

SRS S
4, %

Question Number : 30 Question Id : 7150537410 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The changes occurred in one of the following do not indicate the process of growth
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Question Number : 31 Question Id : 7150537411 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A child of below one vear did not meet its needs of food, comfort and affection. As

per Erikson, this develops in the child
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mistrust
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autonomy
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Question Number : 32 Question Id : 7150537412 Question Type
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
As a teacher, how would you assess interests of a student?
6T oA Hth S odhihed Jo° vol IT8?
A) Gbservl'ng the activities the student is participating in
-::._.C?":'a it 51“*‘: erarerd oo o
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C) using interest inventories
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D) conducting interviews with the student
DP;BE° 9By en A Broto oo

Choose the correct answer:
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B & C only
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Question Number : 33 Question Id : 7150537413 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following test item types can be uszed to measure recall
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Question Number : 34 Question Id : 7150537414 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

As per constructivists, the process of learning in students occurs

A

T - e
o I:J-";G‘?’a' =er satnivenod

&l v o 4
Ao S the @seto, A tmm, e9gie



Options :
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Question Number : 35 Question Id : 7150537415 Question Type : MCQ Option Shuffling : Yes

based on their experiences
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based on information received passively from their teachers
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through mere trial and error procedures
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based on information received from their parents only
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Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The curriculum framework that talks about constructivist approach of

teaching and learning 1s
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National Curriculum Framework (NCF), 1975
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National Curriculum Framework (NCF), 2005
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National Curriculum Frameworlk (NCF), 1988
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Question Number : 36 Question Id : 7150537416 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

One of the following is NOT a function of National Council for Teacher
Education (NCTE)
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Undertalke surveys and studies relating to various aspects of teacher

education.
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Evolve suitable performance appraisal system. norms and mechanism

for enforcing accountability on recognised institutions.
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Prepare and publish school textbooks and supplementary material.
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Lay down guidelines in respect of minimum qualifications for a person

to be employed as a teacher in schools or in recognised institutions.

FriTeds® 8o 180 TPobS $ode® edrgramémr dabivosean 558 509

=
fas]

8o Hoooboi) ardttsrea Srsrobodto
4. ® T a. T
o L

Question Number : 37 Question Id : 7150537417 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0



Which SDG (sustainable development goal) aims to achieve gender equality
and empower all women and girls'?
o SDG (mmb D) EJ 05:0 ) Doif Ssirdersi ¢ FHoSEo HHBAD Hirden B
PDEeolhs AT £ 0iitio wF0m $0A Hob?
Options :

SDG-2

1. %

SDG-3

3 % SDG-4

4 SDG-3

Question Number : 38 Question Id : 7150537418 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
WHO recommended a sleep of 10 to 13 hours for this age group
-VHO ;]&JPJJ': ‘*"6@; 10 “J-‘O[R l? h':l'ﬂ.,l&» v.'\.nl"’iln_lj ﬂc?..-ml\_"l.. L_IMOE_J

Options :
Lesa than 1 vear

1 Josk&Ebo £08) @5, -

5 to 6 years

5 ook 6 Hodeyoren

3 to 4 years

3 Sood 4 Hoseyoren
3. -

7 to 8 years

7 ool 8 Hoseyoren
4, ®



Question Number : 39 Question Id : 7150537419 Question Type : MCQ Option Shuffling
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Which of the following 1s NOT correct about ICT?
208 8 ICT Homobod) $62087?
Options :
ICT integrates digital technologies to enhance learning and teaching
processes
ICT ev¢i;d0 & S5 HEheH DHHHESTIS E20d Boedod

B R
oD 0TPJen 00

ICT 1s a substitute for a teacher

ICT 038 &3rrrainds Heesimeio
2. B

Using of ICT in teaching reduces the physical labour of a teacher

-

Sile)

3 F558° ICT 65GrRoSEo sarerang a855 FHd
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1

ICT 15 a modern teaching and learning aid

ICT @38 2.5 @wthdE 55 $800 &89S

Question Number : 40 Question Id : 7150537420 Question Type : MCQ Option Shuffling
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Section 28 of the Right of Children to Free and Compulsory Education Act,
2009 deals with the fDllc:wing

80B PBE° Hee 698 SO Ealel c:ﬁ) ey ae.,o 20094°0 D& 28 822 DEEHSH08

Options :
No capitation fee and screening procedure for admission.

0830 =0 S8 EINE Her 5860 $;08 Jrdo HoksErED
1. % )

No school to be established without obtaining certificate of recognition.

1080% 8,048 Ho FotiGore D Fberun FhoSErED.
2. % ' "

:Yes

:Yes



Filling up vacancies of teachers
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3. %

Prohibition of engaging in private tuition by teacher.

Garrrainen E:-.?:-E'E_- ™ arnben B Dnbosdo.
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Telugu Content

Section Id : 715053230
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 18
Number of Questions to be attempted : 18
Section Marks : 9
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715053360
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7150537421 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :



Question Number : 42 Question Id : 7150537422 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
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Question Number : 43 Question Id : 7150537423 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

Question Number : 44 Question Id : 7150537424 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 45 Question Id : 7150537425 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 46 Question Id : 7150537426 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 47 Question Id : 7150537427 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
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1. %

Question Number : 48 Question Id : 7150537428 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
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Question Number : 49 Question Id : 7150537429 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Options :

ADID SoBétriirm B

1. ¢
Bt
2. % 7

o o
&. PURCes 06

e R e
i '-'i'.- |G S0

Question Number : 50 Question Id : 7150537430 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 51 Question Id : 7150537431 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Question Number : 52 Question Id : 7150537432 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 53 Question Id : 7150537433 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 54 Question Id : 7150537434 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

Question Number : 55 Question Id : 7150537435 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 56 Question Id : 7150537436 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 57 Question Id : 7150537437 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 58 Question Id : 7150537438 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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English Content
SectionId: 715053231
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 9
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715053361
Question Shuffling Allowed : Yes

Question Id : 7150537439 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (59 to 60)

Read the following passage and answer the questions from 59 - 60:

Religious differences also caused conflict between the two countries. Whereas Spain was
Roman Catholic. most of England had become Protestant. King Philip II of Spain wanted to
claim the throne and make England a Catholic country again. To satisfy his ambition and also
to retaliate against England’s theft of his gold and silver, King Philip began to build his fleet
of warships. the Spanish Armada. i January 1586. Philip intended his fleet to be indestructible,
In addition to building new warships. he marshalled 130 sailing vessels of all types and
recruited more than 19,000 robust soldiers and 8.000 sailors, Although some of his ships lacked
guns and others lacked ammunition, Philip was convinced that lus Armada could withstand
any battle with England.

Sub questions

Question Number : 59 Question Id : 7150537440 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



As per the passage. what does the expression ‘the Spanish Armada’ refer to?

Options :

- the Roman Catholic Spain

the Protestant England
2. %

the fleet of Spanish warships
3.¢

. the fleet of English warships
4,

Question Number : 60 Question Id : 7150537441 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Pick out the word from the passage which means “assembled™.

Options :
lacked

convinced

2. %

intended

marshalled
Sub-Section Number : 2
Sub-Section Id : 715053362
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 7150537442 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the appropriate expression for the following sentence.

The university has not yet declared holidays.

Options :
1. %



Holidays had not yet been declared by the umiversity.

5 Holidays have not yet been declared by the umiversity.

Holidays were not yet being declared by the university.

Holidays has been not yet declared by the university.

Question Number : 62 Question Id : 7150537443 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correctly spelt word from the given options.

Options:

1. % rMZuveiasioil

rejuvenation
2. ¢ 3

refuvella tion
3.% °F

rijjuvenation
4. %

Question Number : 63 Question Id : 7150537444 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the correct option to complete the given blank.

A: The teacher said to her. “Why have you not attended the classes?”
B: The teacher

Options :

asked her why has <he not been attended the classes.

5> % asked her why had she not attended the classes.



asked her why she had not attended the classes.
3.¢¥

asked her why she has not attended the classes.
4, ®

Question Number : 64 Question Id : 7150537445 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct option to complete the following sentence.
The girls go to school daily.

Options :

do they?
1. %

~ doesn’t they?

does they?

don’t they?
4.

Question Number : 65 Question Id : 7150537446 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Alexander Pope wrote that Belinda smiled and all the world was gay.
Identify the figure of speech employed by the poet.

Options :

| % Metaphor

Hyperbol
5 yperbole

Simile

. Alliteration



Question Number : 66 Question Id : 7150537447 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the appropriate option to fill the blank.
Initially the offender had her on social media and later posted

abusing words,
Options :

befriended
1.¢

friended

befriends

friending
4, % )

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks
for this question if any of the correct options are chosen.

Question Number : 67 Question Id : 7150537448 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the verb form to complete the sentence B.
A: Twalk daily. What about you?
B: Really? Usually I don’t walk every day. However. these days. I

Options :

have walked

have been walking
2. % E

am walking
3.¢

walk



Question Number : 68 Question Id : 7150537449 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct option to complete the sentences.
The employee 1s irregular. He has already availed all his available leaves.
Further he 1s now applying one more day leave.

Options:

on: to
1. %

in: for

of: for

of: with
4, %

Question Number : 69 Question Id : 7150537450 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the appropriate words to complete the sentence.

Her father 1s unit level officer in Marine Corps. European security
organization.
Options :

a. the. a
1.4

an, the. a

the, a. an
3. %

a. a. the
4, %

Question Number : 70 Question Id : 7150537451 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0

Choose the INCORRECT option when the given two sentences are combined together.
The student worked hard. The student failed in the exam.

Options :

The student worked hard yet he failed in the exam.
1. %

Though the student worked hard. he failed in the exam.

The student worked hard and so failed in the exam.
3.¢¥

In spite of his hard work. the student failed in the exam.

Question Number : 71 Question Id : 7150537452 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In the country 1t 1s said that the billionaire 1s a benevolent man.
Choose the appropriate synonym for the word “benevolent™ in the sentence.

Options :
_— selfish

> o kind

3 % cruel

famous

Question Number : 72 Question Id : 7150537453 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The fire fighters doused the raging fire.

Choose the appropriate opposite for the word “doused” in the given sentence.

Options :
1. %



hydrated

put out
2. %

3 % extinguished

1gnited
4.

Question Number : 73 Question Id : 7150537454 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the appropriate word to complete the sentence.
The wvisitors have come across a of lions during their safari.

Options:

1. % SWarin

1d
5 pride

3 % school

ack
4, % i

Question Number : 74 Question Id : 7150537455 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following phrasal verbs with their meaning.

Phrasal Verb Meaning
A)  Break down i.  Enter forcefully
B) Breakm 11. End relationship
C) Break out ui. Get upset/stop functioning
D) Break up 1v. Start suddenly/escape from

Choose the comrect answer.

Options :



A—1B-mC—1mw:D—n

1. %
A-1n1B—-1:C—iv:D—1m1
2. ®
A-m;:B—-1u:C—1wv:D—1u
3.¢¥

A-mi:B-mw;C—1:D—n
®

Question Number : 75 Question Id : 7150537456 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Mr. Rakesh Kumar loves himself too much. Therefore many of his friends call him
a

Options:
narcissist
1. ¢

5 % anarchist

lunatic

polygamist
4. %

Question Number : 76 Question Id : 7150537457 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the option in which the following is correctly punctuated.
mk gandhi wrote the book titled the story of my experiments with truth

Options :

. MK Gandhi wrote the book titled the story of my experiments with truth

. M.K. Gandhi wrote The Book titled The Story of My Experiments with Truth.
2.



« M.K. Gandhi wrote the book Titled The Story of My Experiments with Truth.

v M.K. Gandhi wrote the book titled The Story of My Experiments with Truth.

Math Content

SectionId: 715053232
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 18
Number of Questions to be attempted : 18

Section Marks : 9
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715053363
Question Shuffling Allowed : Yes

Question Number : 77 Question Id : 7150537458 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
If Y1728 = 2(x + 1), then the value of x is:
V1728 = 2(x + 1) wond, x 0¥ Dens:

Options :

Question Number : 78 Question Id : 7150537459 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0

6mm can be expressed in Kilometers as

Options:
0.0006

1. %

P 0.000006

0.00006

3. %

0.0000006

Question Number : 79 Question Id : 7150537460 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The ratio of boys to girls in a school 15 9:11. Then, the percentage of girls in

that school 15

w
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Question Number : 80 Question Id : 7150537461 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The value of (x)™° + {Z]; 13

5 -
(x)—5 = &) Ging) dens
{xjiz g i

Options :

1.% %

e
2. %

4 % (.1')14

Question Number : 81 Question Id : 7150537462 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The measures of two adjacent angles of a parallelogram are in the ratio 3:7.

Then. the angles of the parallelogram are

o Fo o e ST, ] o
2.8 Hairodd S&eod ) Totd 88, Bere O
=) .

- 2 3 =l=n
- O

e Wt L
T ODNESOHD ol

15105775 ST
4. &

Question Number : 82 Question Id : 7150537463 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



If area of a semicircle is 308 2q.cm. Then, the circumference (in cm)

i, 3 5 22
of the semicircle 18 (Take IT = — )
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Question Number : 83 Question Id : 7150537464 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The median of the data 6, 5, 10, 4, 8, 5,7,3.8,11,3,15,2, 4, 141s
6540, 4:8, 5;: 7,3,

[wa]

.11, 3,15, 2, 4, 14 &3 & odo Gng) sudgiso

Options :
3

N

Question Number : 84 Question Id : 7150537465 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The mean of the prime numbers between the numbers 25 and 50 1s
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Options :
36

1. %

2.%/38

Question Number : 85 Question Id : 7150537466 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
A path 3m wide 1s running around a square field whose side is 54m. Then, the

area (in sq.m.) of the path is
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Options :

6384
1.4

[
L]
L¥]

484

4. %

Question Number : 86 Question Id : 7150537467 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The order of rotational symmetry for a square 1s
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Options :
1

1. %

L]

Question Number : 87 Question Id : 7150537468 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
5§94 x 906 =

Options :

760064

819964

700064

809964

Question Number : 88 Question Id : 7150537469 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

9409 =

Options :

,
1.+ B



Question Number : 89 Question Id : 7150537470 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following has the largest value?

Options :

0.100)2
- (0.100)

1000

0.0001

10

Question Number : 90 Question Id : 7150537471 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Compound interest on T1000 over a period of 2 year at 12% per annum, if
interest is compounded half yearly 1s

21000 3 H058,5:505% %
[0

Options:

T 352.57
1. %



T362.47

7262.47
4

Question Number : 91 Question Id : 7150537472 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The largest number which 1s a common factor of each of the numbers 252, 396
and 540 1s

252, 396 508010 340 o aing) &l Serosed hfﬁé Rogr

Options :

1% 42

66

fad
I

Question Number : 92 Question Id : 7150537473 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The unit cubes that are required to create a larger cube with an edge length of
3 units 15
$rtd oA Boden o B Hied) SErD VOIS BHEEh; APIES S
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Options:
0

1. %
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Question Number : 93 Question Id : 7150537474 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The volume (in cubic units) of the rectangular box with length 3pr, breadth
2qr and height 4pq 1s

3pr sRED, 2qr Sen) S6a 4pg i BORD 53&1?’%3‘%

— o Py
= A - -
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Options :
8pq°r

1. %

12p?
2% P

24‘22?,2
3 ¥ Pq

6pqr?

4. =

Question Number : 94 Question Id : 7150537475 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Which of the following 15 FALSE relating to statistics?
SEod ABrnd Honodod Bod IS 26 edE;%n?

Options:
1. %



The length of each bar in a bar graph represents the frequency of the

particular item.
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The pie chart represents each item 1n data as equal portion of the circle.
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A pictograph uses pictures or symbols to reprezent the frequency of the

data.

Area of frequency polygon and histogram drawn for the same data are

equal.
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Science Content

SectionId: 715053233
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 18
Number of Questions to be attempted : 18
Section Marks : 9
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Question Number : 95 Question Id : 7150537476 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0
Terricot is made by blending which of the following fibres?

[ g T £l i (et il =
tlala) DG Tore SoibEs0 ODE0 ne 05 D 8dird: dard?

Options :
Tervlene and cotton

EQE SBcin m_.k'_'?
1.4

Terylene and wool

s, o o B0 &y
2. %

Acrylic and wool

LB W - o
H5els O ﬁm;_

Nvlon and cotton

= £l pi
dera snbdin n.zt-'_‘,'r

Question Number : 96 Question Id : 7150537477 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Which of the following 18 NOT a precaution to be taken while using a meter
scale?

o 5 50D s 8 962

o

e e -
ol aPa)d® Shéab 7 R el GutirRoge

A

Options :

Ensure that the ends of the scale are not worn out

?:Lgrra:: 538 sriren DBATFon MY ©bATFon D oo Srihnsird

Qur eye must make 60° angle above the point of coincidence of scale
where the measurement is to be taken

i
L e T
c-.J_,':\‘il ‘-im_, o

2.



Zero point on the scale should coincide with the starting point of the
length to be measured

. )
L W ] Sy uf 4 (ne. ST SV Y o T e H LR
ardod Sothy 540 o STendenn BPEaY) dudd do

2S5 Noder Goord)
3. %
The scale should be placed exactly along the length to be measured.
» -Eu E::'ﬁi:é: EPenmna™ :u_._J" o°R) Joat FOL.‘F&E«.&Jl e -:u F_f_.-:*:u SO
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Question Number : 97 Question Id : 7150537478 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The abbreviation for IM D 1s

I M D Giwg; 2x8es drdo

Options :
Indian Mineral Department

208a0S hidtd Aarb oS

—
"
L“

Indian Mycobacterial Department

508058 PErEBHE BFE Dol

Indian Meteorological Department

208095 DTS er2sd n:“'f“*:- hods

'l."u LRl

3.¢

Indian Mines Department

- =5 =B B W) e ST
sobdha gldoa ﬁc:"""g S OE]

Question Number : 98 Question Id : 7150537479 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The uppermost layer of the Earth 1s

Options :

Crust

&

e -
T adE080

1.4

Mantle

HrEararbo

Outer core

r

s e T i L e
%07 B0 S0|0) o3CEseI0

Question Number : 99 Question Id : 7150537480 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The basic unit of tume 1s

L T -
seeralS SiTe DT ER0

Options :

Day
F7pas

Y= o
bt

Minute

oy oy

ol O
-

£

L3t

Hour

3 ] ﬁl Lo '3\:
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Question Number : 100 Question Id : 7150537481 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
A magnetic compass 1s useful in

@ohaR) 08 BERD & B85 62ArHH0E06

Options :
finding the north-south directions only

o -

&80 G586 B 533’-‘.._&63:- foBodto

[

finding the altitude only

o83 DBotlo s s

finding another magnet only

HB° edhadm ol (DBodto argd

finding all the directions

Y LY SR ¥ s v
@ BEown bBodto

Question Number : 101 Question Id : 7150537482 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

To coat an 1ron key with copper by electroplating method. copper plate has to

be connected to

i 5 o [ -
L D, e WAL I oot o Oy DL O o sl oy o oL BoVR af | D oy
o8 28%0h HEBE° 5500 @Yoda) 3 TR spED Sraingdd, TR Hesd B8 Seard
- ]

Options:

Negative terminal of the battery

B T
gPcfo0 enes 3000



Positive terminal of the battery

erséad &8 Bydo
2. ¢
Iron key
B0 *Eoda)
3. %
Negative and positive terminals at the same point on key
%030 2.8 Hothd BG agead O HBA ames GyEros
4. %

Question Number : 102 Question Id : 7150537483 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Which of the following mixture is separated by using sublimation?

BR_ o e T T T P, - B, Doar Ll
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Salt and wheat flour

‘6)':' l.-.- e k&a{'jgaog

Salt and Camphor

5& SoBdin HQ‘L” So

10

Salt and chalk powder

EI'_}J

a3y B i 50 P&

Question Number : 103 Question Id : 7150537484 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0
Which of the following 1s a chemical change?
Bob r8E° 5Ic0IE Sy 26?
Options :
melting of gold ornaments

2o aditioren BNz

By

1. %
heating of water
262 J& Behiko
2. ®
drying of clothes in sunlight
oéen dois® e stallels
3.% %
boiling of an egg
:u:l FL'I’.L F?él.uf\:'h
4.

Question Number : 104 Question Id : 7150537485 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the correct sequential order of stages in silkworm life cycle

s

Senmih 208 888 208 G, Mook,
L] - =

Options:
Larva — egg — pupa — silkmoth

i O T a =y _;\,'“ # )
TRy —> 108 - g > @FEED

Silkmoth — egg — pupa — larva

rEdD —» 8 DD — FrgP > ooy

Pupa — larva — silkmoth — egg

SFrar = ePTRr —» EREED — 1D



Silkmoth — egg — larva — pupa

EPEED — 1 D —> €P°; >
4.

Question Number : 105 Question Id : 7150537486 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the saprophyte from the following :

-
L)

208 2SE 5/;-"-'_'&: e by [""L:“Zj o5ol.

Options :
Lichen
g25

1. %
Mushrooms
syefTDrDen

2.
Cuscuta

3, % e
Nepenthes
u-c_,':'E‘ru

4,

Question Number : 106 Question Id : 7150537487 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In tadpole stage. frogs breathe with the help of these structures.

P —
=

erE 5 GogiBore &) 3y & AT e Tk 7o,

Options :
Galls

pm L
ol ad e

1.4 :



Lungs

. Stabaien

2. -
Trachea

3 % o0 aPEEen
Bucco pharyngeal cavity
S50 Bspto

4. %

Question Number : 107 Question Id : 7150537488 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the plants with complete flowers
Hose :_E Jalyendy @nd yes fDBodol.
A)  Ipomoea
o&Ehalr
B) Cucumber
5%
C) Bitter gourd
5250
D) Datura
S
E) Papaya
& ae 00
F) Hibiscus
oy
Choose the correct answer:

A T T o~ afoorh :
-:\..'j% edelFTPeP ey olOwS of:

8

Options:
1. %



B.C & E only
B.C & Esirgah

A E & F only
A E & F so@ah

A, D& F only

A, D& F sr@ah
3.

B.C & D only
B, C & D sirgad

Question Number : 108 Question Id : 7150537489 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Match the following.

PR
s 0N 0d.

A) Begonia i)  Suckers
DDA 2ol dnsen
B) Gladiolus i) Bulbs
PEared exPen
C) Chrysanthemum u1) Modified roots
FiFodibo (T5008) drarosto Bobd A
D) Onion iv) Corms
=1) Sotio

v) Leafbuds
D @aniien

Choose the correct answenr:

Options:
1. %



A—nm;B—iv;C—1yD-1

A-v:B-mC-1u:D-1

2. %
A-1mw:B—-v:C—-m:D—n
3. %
A—-v:B—-1v:C—1:D—n
4, &

Question Number : 109 Question Id : 7150537490 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following are NOT algae?

Sof rad” FHaren SPRA wa)?

A) Cyelops
5

B) Ceratium
Dordidbo

C) Spirulina

-
- -

o IO e
ﬂ-i.:u LA

D) Diatom
Baiméo
E) Saccharomyces
:1“3;-6’*2_”??_
Choose the correct answer:
G

e an— G VT T
eded edolPLIP el el oD US Ola:
o ’

Options:
A & E only
A & E 5imEdh

D & E only
D& E s



B.C & E only
3 % B.C& Eéh’-‘f’_ﬂﬁ)
AB& C 011135

A B & Cirgsd
4, %

Question Number : 110 Question Id : 7150537491 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the pollutant which is released from refrigerators and air conditioners
and causing damage to ozone layer.

i B E
Bt ot B

[ p— -
Bogie &y Nean B w . . L e -
Bim20eth, Jonbd Bolso & ol Jendé LE°S &R

Options :
SO»

Question Number : 111 Question Id : 7150537492 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the hormone secreted by pituitary gland.

pI

- o [

Bload  wf s Oy Thas wf iRy af T afforh B oafl owlo o

adns (Nod B HAodst B8 D DBoSod.
e - = -

Options :
Progesteron

e =
-m'EmU'w

1. % =



Follicle Stimulating Hormone
=

™ F B B uiooh B
:?F@é’&: EEI-B_JJ:],‘_F_,EJC'H Ll e] A
oy

2. ¢

Adrenalin

DE%05

3. %

Estrogen

s o
"-_T:l.'\.l_ el

4. % =

Question Number : 112 Question Id : 7150537493 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the disease which 1s NOT caused by protozoan parasite.
Options:

Filaria=is

1.v 5

Sleeping sickness

ST Th

Kala-azar
y ==

SoeT @ePH

4. %

Social Content
Section Id : 715053234
Section Number: 7



Section type: Online
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Number of Questions to be attempted : 18
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Question Shuffling Allowed : Yes

Question Number : 113 Question Id : 7150537494 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The colour code “Brown" 1s used to represent this land cover and land use in
maps
D06 Bthi /5 Soth 4 o) & i DGPM)) BDAHER0H
Options :
Cropped Area

) F - - - r -
L e e TR e e TSl e
arrale PO e)S @elale) S0P0kD

L=

Places with minerals

A :
R R u g . T g - | w S
Yol & BRGH _afm LY,

!

Plateaus and swamps

Question Number : 114 Question Id : 7150537495 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The approximate height of most of the Telangana state above the Mean Sea

Level 15

S0 VES 'r;i e TIRET |l°'G"L‘s &0 wiitn N{-JJJG {IJ:'E-\.I D8 Qe CPDE{:O £ ‘_éu
deorres Tyod 2 Y
&ofron

Options :
0-150 MSL
1. %

150-300 MSL
2. %

300-600 MSL

600-1200 MSL

Question Number : 115 Question Id : 7150537496 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The correct sequence of the given temperatures If_l.Z0 6189692047
and25° C) on arranging them in ascending order.

5053 safriges (120C, -189C, 09 C,-49 C H8a 250 C) o8 ire BHo6° ohsym

# - — ¥
Hrd 288 Bano

Options :

~189C.00¢C, —49C,129C, 25°%C

~180¢C, _49C, 00, 120¢, 25°C
2. ¢

. AN C. 000, -0, 180
3.

0oQ, =49¢.120C, ~189C, 259C
4, %



Question Number : 116 Question Id : 7150537497 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The first Europeans to be seen by Eskimos were

o Pl L Rt oy YO M - R A
PR GI0R0EI00MEITTE TP n TR0 a0l
5] e

Options :

Vikings from Iceland

=

by
2%

arob & 2085 2o

1.4

Circassians of southern Russia

o e SR S R B et
556 Salrr® Bohd o:rD’-‘érmfﬁa-&u

Crimean Tatars of Crimea (Ukraine)

L=

T ol & L Ry ek W = 2 ., =
._é;.l.zdc:“é., DoB& iPQ‘.JOT'Ju E::"S._,":N {ﬁ_g'fu_,u)

Sami peoples of northern Norway and Sweden

Question Number : 117 Question Id : 7150537498 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Arrange the following states of India in descending order as per their

Population

]

PESRT0E DS 8ob Trapos 8 mrgr HEdo @SBiirn Siod®
A) Uttara Pradesh

6835 B0

29500 06

B) Maharashtra

D) West Bengal
28150 Borrd
E) Andhra Pradesh
BoSRGS
Choose the correct answer
$08 SErmrard) Qoth8 ol
Options :
AC.B.D,E

A, DB CE

A.B,D.C.E
3. %

A B C DE
4.

Question Number : 118 Question Id : 7150537499 Question Type : MCQ Option Shuffling
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Caucasian Mountains, the southern boundary of Europe. lie between

o ol

4 o e A i £ LB o o & rd =
A58 por=s HEes rﬁaaf':'dé- ©o0H 580000 H8:aren I8 0 G

Options :
1.+

:Yes



The Caspian Sea and the Black Sea

- £

7 = #
Sooyaa HanPo w8dn do Himio

The Ural Mountains and the Caspian Sea

il gy
200 EERE o) 'Eﬂf.u 58 ru Ci‘u-:\_l rx_lcxml"“"':l

The Black Sea and the Alps Mountains

o £08061 e, QJDNT’E_E
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:\5’& eoodd

The Alps Mountains and the Ural Mountains
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Question Number : 119 Question Id : 7150537500 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Describing the lives of urban people. Shudraka wrote a very interesting drama

called

Options :

Abhignana Shakuntalam

i
Foa

,ngé FE08e0

Mrichakatikam

syt 8880

2. ¢

Gadha sapthashathi

-

e ;\:6%
3. %

Buddha charita



Question Number : 120 Question Id : 7150537501 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The famous Mehrauh Iron Pillar, now i Qutub Minar Complex, was set up by

il

R S e o.ﬁ_mg cmm N E b Al Cien By e e e e T
|[adedd €0 :ufﬁ.r{":' olieJ®0 5SRO 'g’{" ﬁw; [odedl) oddjad® &) Soddod cJOE ndY u:u'\_.'cc‘h.'ﬂ.u Tieded ol
g J LS h = b ol

L
o
@oe

Options:
Chandra Gupta Vikramaditya
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Skanda Gupta

wt & m
P00 Ma)Cd
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Chandra Gupta Maurya
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Question Number : 121 Question Id : 7150537502 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In Africa. Cocoa 1s grown mainly in

sRsE”, 550 dngiomr & B¥od” Holard
Options
Niger
Je:b
1.%
Nigeria
Llelervy



Egypt

éuw:u
3. %

Congo

)
g
520N

Question Number : 122 Question Id : 7150537503 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In the process of paper making. the fourth stage 1s
b daird Sk Bchet o e 5 G
Options :

Malking of wood pulp

Le33) thersd Saird ddbEo
1. % N
Spreading the pulp
gﬂ&, LL._,_ ;L &_,\51 l.:.'“':'
2. %
Pressing. drying and rolling
2,880, atizdérdo B Heo
3 & = =
Cutting the paper according to the size required
WHNEEN D8:rmo P00 AN E&boito
4, ® - -

Question Number : 123 Question Id : 7150537504 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This Rashtrakuta chief defeated the Chalukyan overlord and performed a

ritual called ‘Hiranya Garbha’

e wf L i g S Ty Oy (B Lo . £ L
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Options :
Amoghavarsha I
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Dantidurga

& oy
Ho&thd

2. ¢ ;

Erizhna II

¥,

3. %
Bottiga Amoghavarsha
SO @0

4.%  F

Question Number : 124 Question Id : 7150537505 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Abdul Razzak. the Prussian trader, visited the Vijayanagara Empire during

PR aRrerd wond @end S5 DeschRN0 PETERd) oJa Tood’ Ho 838y0°0

Options :
Devaraya 11

Co&s Q"LJT coen

1.4
Sri Krishna Devarayulu
@ Bys G0 Ginen

2.%  °F

3. %



Saluva Narasimha varma

FE08 HRose 55

Har Hara and Bukkaraya
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Question Number : 125 Question Id : 7150537506 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

On 18t March, 1944 the Indian National Army crossed the frontiers of Burma

and entered India with a slogan

T 0 F oy 3 & £ Dnd o ad Oy, ey TR .Y s - o R
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Options :

Gandhiji’s swaraj 1s coming and we will not pay any taxes to this

Government
mobE S:oreso 50008 d Hin & Hehar D8 Jerodd Hinen IDoNsn
1. %
Purna Swaraj
0 DoeE
2. ® "
Dilli Chalo
af =gt
Lo LR L
3.¢ 7
e : ; 2 , na
British Rule in India must end immediatels
el . . T . =5 3
rOEDdos” B85 sred dotd godo SPard
4, %

Question Number : 126 Question Id : 7150537507 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The Nizam rulers of H}*derabud atate spoke this language
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PETRERS Uhayo8 e dero aPobhen erpssd grl

Options :
Arabie
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Persian

oyt B
Flelonits

2. % =
Kashmirm
S’*%éﬁ

3. %

Deccani Urdu
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Question Number : 127 Question Id : 7150537508 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The president of the Constituent Assembly and the chairman of the Drafting

committee of the Indian Constitution were
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Options :
Dr.Sarvepally Radhakrishnan and Dr. B.R. Ambedkar
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Alladi Krishna Swamy Iyyer and Dr. B.R. Ambedkar
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Sir Benegal Narsing Rao and Dr. B.R. Ambedkar

- 56 BIHS $Byoh TP B w56 &. 6. wodt)5



FL.h

o
-~ @ oA
Lo <.~

Dr Rajendra Prasad and Dr. B.R. Ambedkar
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Question Number : 128 Question Id : 7150537509 Question Type : MCQ Option Shuffling : Yes
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Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The independent institution that supervises the expenditure of the
ﬁ':l‘u rdo ‘30'{& n,:lu:u

Government and report directly to the President of India 1
T P88 TPRHSS8 I3

Options:
Auditor General of India
zobdr

I}
£

=
ke e
836 pld &

1. %
Public Accounts Committee
D85 w05 580
2. % )
C{:rmptr{:r]ler and Auditor General of India
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Sosfeb Hbdn &
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NITI Aayog
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Question Number : 129 Question Id : 7150537510 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
From among the following. the members of the Rajya Sabha are elected by

o
gOEJ o 6”51 e /i.p.,- wal_, oL I."'-J.J

Options :
1. %



The members of the State Legislative Council and State Legislative
Aszembly

O°a) PR 2ol Srbdin durRde DHéhen
k=

The members of the State Legislative Assembly

TPy aIGPRde Hdhgen
2. ® ;
The elected members of the Lok Sabha
-'-'R v Y
g mcp,:f} -:um.‘gu:\:fl r:I-:,_p.f'""_:C
3. %
The members of the State Legislative Assembly and the members of the
Lok Sabha
TPy QTPRNY Hghen bk °5 P8 KHdhen
4, ®

Question Number : 130 Question Id : 7150537511 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
At Divisional Level, the Criminal cases are dealt in these courts

PR = s = L, L oy
G226 arond”, 5EN6 sihen & SHed” H8:)bodataron

Options :

Dastrict Court

2er 5%
1, ® =
Junior Civil J udge Court
237006 Hod ﬁ,nﬁ
2. %
Seasion’s Court
55 8%
3. %



Asst. Session’s Judge Court

BHnod VAR, 236 5%

Telugu Methodology
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Question Shuffling Allowed : Yes

Question Number : 131 Question Id : 7150537512 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 132 Question Id : 7150537513 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 135 Question Id : 7150537516 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Question Number : 136 Question Id : 7150537517 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

A Rty .
700 AT OEs

1. % o

3.¢
Riss

4, %

English Methodology
Section Id : 715053236
Section Number : 9
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 3
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715053367
Question Shuffling Allowed : Yes

Question Number : 137 Question Id : 7150537518 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In English language teaching. the following theme best suits to the students of
Primary level.

Options:

Family
1.¢

Science and Technology

Women empowerment



International Peace

Question Number : 138 Question Id : 7150537519 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Rajani, who teaches class V. asked the learners to complete the conversation in the
boxes provided. She asked them to practice the dialogues before role-playing them. The
skills that were developed here are

A)  reading

B)  listemng

C)  writing

D)  speaking

Choose the correct answer

Options :

A & B only
1. %

AB,CED
v

C & D only
3. %

A, C&D only
4. %

Question Number : 139 Question Id : 7150537520 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the characteristic feature of the language.

‘We can sit in our drawing rooms and discuss the parhiamentary debates happening in
Delhi’

Options :

. Language exhibits duality of structure.
1.

Language 1s arbitrary.



Language exhibits displacement.
3.¢¥

Language transmits culture.
4, ®

Question Number : 140 Question Id : 7150537521 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This activity 1s more suitable for promoting speaking abilities in the English language
classroom.

Options :

Reading a text

Writing a story
2. %

3 @ Enacting a role-Play

Listening to audio
4, =

Question Number : 141 Question Id : 7150537522 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This question 1s difficult to frame but casy to evaluate its answer.,

Options :

Essay Type Question
1. %

Short Answer Type

Multiple Choice Question
3.¢

Long Answer Type
4. -



Question Number : 142 Question Id : 7150537523 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
‘CALP’ stands for

Options :

Cognitive Academic Language Programme

Cognitive Academic Language Proficiency
2. ¢

Cognitive Achievement of Language Proficiency

3. %
. Cognitive Advance Language Proficiency

Math Methodology
Section Id : 715053237
Section Number : 10
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 3
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715053368
Question Shuffling Allowed : Yes

Question Number : 143 Question Id : 7150537524 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Read the following pairs related to formation of mathematical concepts in the

children.

_.

Engeéﬁ N3 spdden S':Qfﬁﬁﬁﬁjé Doaobod)d Eob adod S85ol.
A} Student looks at a triangle and forms a mental image based on its

characteristics: Discrimination

i 3 v i LBt i N, z_\,—..-ﬁ £l
;:'F E' Sl @&J{’S RS TEH o) Lo TRd) E_rbﬁacf'_, '"\:,‘T(ﬁ':'ﬁc P ans ?ﬁt‘@"‘g{:‘;wa Horn8Rtio:

-

oJtiBes

v’}
B)  Student applies the concept of quadrilateral and concludes that a square,
rectangle and trapezium are all quadrilaterals: Generalisation
lagile SEL e PN ed:on05ED Ko, 513 3880, Bhacho vl &

&

S8 © Jpte T8 Sto0: FPrEBEBoSto

C)  Student distinguishes circular objects based on the common property of
“roundness” from the given objects of different colours and shapes:
Abstraction
BN DG Sofben, wserren fo e Mok “Nogio” 8H PEPS:
serlorr Jr B SoHelh S Debio: ©PLETEo

Choose the correct pair/s:

208 TP /o oothE ol

Options :

A only
A SrEah
1. % -
B only
B sirgah
2. ¢
A&C only
A & Csrah
3. %
AB&C
4, %

Question Number : 144 Question Id : 7150537525 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
A student “applies the concept of profit and loss in daily Iife situations”. Then,
the academic standard attained by the student 1a:

A i 4 . VATLLI GV Y. £ . . R o a n
2.5 AP0 “erg-Ralfe Fran JEEdd otithed” JJaPAoil”. Bond, @ Jud
A ¢ @

b e

Options :

Problem solving

SEEvREVLTATY

L)

Reasoning and proof

SOy NP Sy - (N oI L
seleen Daniio — SFaesen Ddnio

Communication

3. %
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Question Number : 145 Question Id : 7150537526 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the merits of synthesis method among the following.
Eob PP ‘fuoféa’lﬁa a’;@&a Ginic) iDegresd DBododk.
Al This 1s a concize method.
58 Ho{BHHS HOS.
B) It saves time.
2B Soerdy Erths B0,
C) It fosters an exploratory perspective.
28 E;:“;;ﬁﬁ SyE ?30@“95533}5.
D) This method 1z useful for solving routine problems quickly.
s %61;3@9 TP f80iei S0 SrBoNTIE &AErNHh&Een.
Choose the correct answer:
H0H HErrard) oihEiof:
Options :
A B & Conly
A, B & Csmgsad

A, B & D only

A B & Dsrgah
2. ¢

C & D only

L
C &'.' D -:J_T&;;'ﬁc-_.“a:-

ABC&D

Question Number : 146 Question Id : 7150537527 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Read the following statements related to learning resources in teaching
mathematics.

Kede SP5Ret eog 708 HHeH Jonofolld Gob argres Sthok.

Statement-I :  Students who are interested in mathematics are members of

mathematies club and participate in varipus activities.

-1  Hddo 2 wdbie doy hﬂu Hedds éhuv Hehrente ol A Bse
SEEires” rdotrd.
Statement-II : Tailor. carpenter. gardener etc. can be used as human

resources in teaching and learning mathematics.
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Choose the correct answer:
008 HEPTPRPY) 208 5ok
Options :
Both the statements are true.

Botd aPsyren 850,
1.¢¥

Both the statements are false.

ol & P giren E;'n.v“_% 0.

Statement-I 1s true and Statement-I1 1s false.

amss—1 H&0 s08diw seyy;-1I edEro.

Statement-I 15 false and Statement-II 18 true.

E'_FQEEZ-;—I WE0 bcim o7 ;—H EEI@QJO.

|:1

Question Number : 147 Question Id : 7150537528 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Arrange the following steps of the SE Learning Model in a sequential order.

SE&

.
R R N, R ool o
foded edeld el &0 Sob & PrPeeD sxtioe ﬁc\-'l. - @sn0100.

'E%-\

A)  Engage

Qsoito se8to

B) Explain

D) Evaluate
sorero8io 3650

E) Elaborate
D¥8%BoSKo

ChODSE‘ the COrrect answer,.

Fu"j% Sae PP r wot8ol:

Options :
ADB.CE

BAECD

A.C.BED
3.

C.A.B,.D.E

Question Number : 148 Question Id : 7150537529 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Which of the following 13 NOT a major part of the assessment framework?

o . s a » ;_ A - =, n
Bob Ed” shhowy Jod R WEEd dgriio SRR W67

Options:

Teaching and learning strategies

. a a - )
S0t sgraten
1.4



Learning indicators

2. %
Assesament tools
H0B05y aediaren
3. %
Reviewing
$&g Dohiko
4, ®
Science Methodology
Section Id : 715053238
Section Number : 11
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 3
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715053369
Question Shuffling Allowed : Yes

Question Number : 149 Question Id : 7150537530 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Which of the following 13 a part of Environmental studies
208 8BS HoNTe ?J%éoé’g eriio
A) Knowing about the environment
$BKTRR) B0 BeninEiSKo
B) Learning through the environment
ISlarslele wliel 3&;?&-2‘5@
C)  Learning for the environment
$BH80 B0 e 8o
Choose the correct answer:

LA vy

R0R HErTERRd) aoHE k!
Options :

A & B only

A & Bsrgd

B & C 01115'

Bé&C ELI'-‘;E*_'EEAJ
2. %

AB&C
3.v

A & C only
A& Cirgd

Question Number : 150 Question Id : 7150537531 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Cognitive development may influence children's emotion levels in this age

—m it W on S O Aot nt Ol B e OB D o T AR LY
Pard)s edih & Habind” boe O JPoned perdEo IS
% i

L

Options :
3-4 years

3-4 SosEoren

1. %



8§ —12 years

8-12 Honsoren

13-15 years

4. %

Question Number : 151 Question Id : 7150537532 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

These are known as the main gateways to learning

AR et oy PR S
DEicrocd 5D (0w Ef‘hu en &) 88

=

Options :
Sense organs

e JHGT o (T
i.l fvol'n._'lj:!.-:'&'_;
= =

Teachers

+5

&arerainen

Class rooms

BONE Hhen

4.

Question Number : 152 Question Id : 7150537533 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the most suitable method for teaching biographies of scientists in
addition to the subject of science from the following

1 = s o R e s f g ,,r'",- & ;o AL & o Y
S0 arad e 5065 DACHoE rén T T ade 208 J0Ee e 8 0ouds
S o & £

o
f.EK

e

2 _— e " F
:8re D083 hBodol
z 2.

Options :
Heuristic Method

=L o
ol ol b aol)és
(=]

-

a0

Activity Method
Lot 208
c.

o

Historical method

P £ o
OES 0

R'U\

Deductive Method

DD Hs
4, “

Question Number : 153 Question Id : 7150537534 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In Telangana state EVS text books. the exercise ‘I can do these’ at the end of

each lesson 13 meant for

wores o4 EVS ard; 9dses®, %8 drdo D506° 3 D680 3ahiied’ oF ogrsio

a

&) 8o ﬁé%owaéo&

Options:
self-evaluation

;0% shrero8io
1.9

peer evaluation

Qe08dhHye drerosbo
2. %



teacher evaluation
&arrr:dine sarerosdo

3. %

diagnostic evaluation

Question Number : 154 Question Id : 7150537535 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Which of the following 1s useful for displaying both transparent and opaque
materials?

Eob D& ;mtr:.o g, @ardtsE drrTes Sofiodld) @ 58NS Gadr A0 067

v @

Options :

Slide projector

Epi diascope

DBEET 55
2. ¢ :

".\

Overhead pl‘DjE‘EtGI‘

- &= : —|=_‘)'l:
£.20 oG ErEs0
b &

3. %

Film strip projector

8 F =R E
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Social Methodology

Section Id : 715053239
Section Number: 12



Section type: Online

Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 3
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715053370
Question Shuffling Allowed : Yes

Question Number : 155 Question Id : 7150537536 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Which of the following statements are TRUE related to concept of
Environmental studies (EVS)?
pStarsieils SJE:;& PR Hosobot) & 8ob “PS’&@’“ ﬁgzﬁa Byt
A)  Environmental Science 1s a subject which provides proper
understanding about the environment to all human beings

8o drdo (EVS) o3 P Jnoho HBNTreN 11P8y rdHeotddbs $09

51“
I

)

I Ly e o ¢ 3 e
SRR 5ot &) todod
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B)  Physical environment 1s also called as man-made environment
TS HOST {Pd% A8E HBdY0 @ ErTe HE0rs.
C)  Forts, Art galleries, Dams, Cultural centres etc., include in social
environment
Trond $8:508" Been, Eeanden, @ HEken, r:—:l""OEi‘-_;_ﬂ_‘;k'_ég _51-:3:_:5?-‘&33 Ho3s) Gotron
Choose the correct answer:

n"j:'\.{} PAEILIALPY rJ‘ &,Oo:l‘-\ (A "i O(Q

Options :
B &1’ C Ulllj:
Bé&C 6:3:@?“:3
1. %
A&C only

A& Csrgad
2.



A & Bonly
A & B s5rgd

AB&C

Question Number : 156 Question Id : 7150537537 Question Type : MCQ Option Shuffling
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
‘Telling reasons’ and ‘growing flower gardens’ are the learning indicators of
these Academic standards respectively

s TS VAR VAC LY 4 L AR AT SR NV U VRV S L i
seOeen Duptd’, WPONN0 VoML’ B BN Srdben HHT & oy ParEroh

0}

= £ o
?.JDElﬁc-J.

Options :
Information skills; appreciation and sensitivity

e i B . A WY n
SNV il e] r‘ﬁc.__l:i-u--:'?_}:': [0d2 O — rfn}r,.lcl‘."_ﬂ?}":l

Conceptual understanding; mapping skills

2. %

P ~ A -
- .— = e Y -
o o) S o @,"EL:JE\, — ol0od

o

3.

Questioning and formulation of hypothesis; experiments and field

observations

4, %

Question Number : 157 Question Id : 7150537538 Question Type : MCQ Option Shuffling :

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

:Yes

Yes



Match the following related to teaching Environmental Studies (EVS)

abaTee EJE;éo (EVS) £°55% Somobot) & S0 e exdfsidSol.

| 11
A) Why to teach? 1)  Subject
Dot H8o0rd? s DAcho
B) What to teach? 11) Methods and approaches
o S 80d? .;,it;;{wa, &5K5men
C) How to teach? 1) For evaluation
Qe & BoTd? soreroddo 8o

iv) Achievement of objectives
OFPe U0
Choose the correct answer:
$0% SErrrard; dothsod:
Options :

A—1wv:B—1:C—1
1. ¢

A—m-B—av OG-

A—1:B—m:C—n

A—nB—m C—1
4. %

Question Number : 158 Question Id : 7150537539 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Which of the following statements are TRUE related to pictures and maps?
DiEren, Hered Homobod) & 8ob FEEnest SIsEHIsHE
A) Both pictures and maps are visual aids
D@en, Héren Colre y; 6a80aren
B) Both pictures and maps have map language
Di@een, éPen GollP Heerd é@ &otron

C)  Scope of picture is very small when compared to map

Options :

AB&C
1. %

A & B only
A & Bsrgad

B &.’ C Dll]:a'
B& C El?'—‘;gﬁé:n

A &'.' C Dlﬂy
A & Cirgad

Question Number : 159 Question Id : 7150537540 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Which of the following statements are TRUE related to merits of use of
Information and Communication Technology (ICT) in the classroom?
E5KS 1168° J5PoS ol S"m rJ {ICT) &u0irfothe Hen Seld @j@“ﬁ&‘“&gj
c\.OuOfJOL_ & Bob _"’E ~sTned & FSEEG:’ ::I:J‘?
A)  Information and Communication Technology (ICT) develops creativity in
teaching
RBEPE, PoS8S $bepdo HURE" H)pTEBED DoTrodiod
B) It helps the teacher to conduct vurietjr of teaching in single way
30 G E°EKD 2.8 dirto yT> WoRSTIE E%thd0s
C) It provides an opportunity for cooperative learning among children
56 MJJ_“"S Dersed @S edsedo E0yhoh.
Choose the correct answer:

K09 SPraed) aobE Bahob:

Options :
A & Bonly
A & B SrEd

B &1’ C Dll]:r

B & C &r@ah
2. ®

A& Conly

3.&?}&@1(' L T5)

AB&C
4, %

Question Number : 160 Question Id : 7150537541 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



“Collect the information about explorers like Columbus™. This question aimed

at achleving this academic standard.

“Sooab $ofl BF:n%e 1809 KrTTd) DEBoNol” & B & P; HErErd)

.

Boidid 608000k,

2y

Options :
Mapping skills

ESTh) @ﬁ EG°5ED

Information skills and project work

e T, el {ﬁ-.,.-—' £, Oy

eladTP R0 _fuﬂﬂgu_uﬁu. |2 Lﬂé.. ool

2. ¥ - =

Appreciation and sensitivity

mF0om — fneEE-o

3.% e
Conceptual understanding

4 % EPHNe BNTParn





